100 asp$=CHR$ (22) +CHRS$ (1) :esp$=CHR$(22)+
CHR$ (D)

110 FOR stylo=0 TO 15:INK stylo,O:NEXT
120 SYMBOL AFTER 32

130 SYMBOL 124.24,24,24,24,24,24,24,24
140 SYMBOL 209.1.1,1.1.1.1.1.1

150 SYMBOL 220.40,126,255,255,253, 126,40
.24

160 SYMBOL 222.36,66,129,6b,36,66,129,66
170 SYMBOL 223.8,24,32,48,48,64,32.0

180 SYMBOL 224,0,4,.30,14,14,60,24,16

190 SYMBOL 225.0.0,3.63,31.3,0,0

200 SYMBOL 226,0,126,255,247,127,223,126
0

210 SYMBOL 227.16,64,32,4,14,15,14,1

220 SYMBOL 228,0,0,0,0,3,0,0,0

230 SYMBOL 229,16,24,24,125,235,126,24,1

b

240 SYMBOL 230,0,0,0,228,0,0,0,0

230 SYMBOL 231,0,36.28,92,11,0,0,0

260 SYMBOL 232,0,0,56,235,16,0,0,0

270 SYMBOL 233,0,240,246.246,246,245,280
D

2B0 SYMBOL 234.192,224,224,224,224,224.2
24,192

290 SYMEOL 235,0,16,28,31,28,16,0,0

300 SYMBOL 237,16,84,56,222,36,84,16,0
310 SYMBOL 236,136.116,8.16,16,16,8.8
320 SYMBOL 238,238,238,0,0,187.187.0,0
320 SYMBOL 221.0,6b.bb.bb.bb, 102,126,566
340 SYMBOL 210,0,0,0,16,0,0,64,128

350 SYMBOL 211,16,56,124,254,124,120,16
360 SYMBOL 212,128,128,128,64,32,16,16
370 SYMBOL 213,1,3,3.14,14,12,6,4

380 SYMBOL 48,0,126,102,102,102,102,126,
0

190 SYMBOL 49.0,24,24,24,24,24,24,0

400 SYMBOL 50,0,126.6,6,126,96,126,0

410 SYMBOL 51,0,126,6,30.6,6,125,0

420 SYMBOL 52,0,102,102,102,126,6.6,0
430 SYMBOL 53,0,126,96,126,6,6,126,0

440 SYNBOL 54.0,126,96,126,102,102,126,0
450 SYMBOL 55,0,62,6,6.6,6,5.0

" 440 SYMBOL 56.0,126,102,126,102,102,126,

0
470 SYMBOL 57.0,126.102,126,6,6,126,0
480 SYMBOL 240,8,8,22,163,116,116,127,23
5

490 SYMBOL 241,136,80,50.60,56,60,127,25
3



500 SYMBOL 246.0,0,64,255,64,0,0,0
510 SYMBOL 247.16,34,14,16,16,16,14,16

330 * PRESENTATION

340 MODE 0:sonci=1:LOCATE B,5:PEN {:PRIN
T"TIRS"

550 ¢=96:FOR i=1 TO S:pr=pr+1:60SUB 1700
sc=c+96: IF pr=& THEN 540 ELSE NEXT

360 BORDER 0:INK 1,13:INK 2,26:INK 3.3:1
NK 4,1:INK 5,2:INK 6,6:INK 7,11:INK 8,5:
INK 9.24:INK 11,26,0:INK 12,20:INK 13,12
tINK 14,0: INK 15,15:5SPEED INK 2,2:pr=7:s
onci=0:FOR t=1 TO 2000:NEXT

370 FOR emtir=94 T0 584 STEP 94:FOFR bt=i
3 70 10 STEP -1:50UND 2,0,5.bt.0,0.1:NEX
T:PLOT eatir,204, 14:NEXT

SBO FOR t={ TO 500:NEXT:LOCATE &,24:PEN
J:PRINT"4 EPREUVES®

390 FOR t=1 TO 3000:NEXT:FOR scr=1 1D 40
:CALL 4BCAD:NEXT:INK 0,9

610 *CADRE/INDICATIONS

620 BORDER 1:INK 1,13:INK 2,26:INK 3.3:1

NK 4,1:INK 5,2:INK 6,6:INK 7,11:INK 8,5:
INK 9,24: INK 10,1B:INK 11,25,0:INK 12,2
$INK 13,12:INK 14,0:INK 15,15:SPEED INK

L &

- 530 WINDOWS3,3,4,10,15: WINDON#4,6,7,10,1

5

640 WINDOWSS,9,10,10,15:WINDOWSS,12,13.1
0,15

650 WINDOWE1.1,20,6,20

660 FOR eft=1 TO 72 STEP 2:PLOT 0,402-ef
t,14:DRAN £40,402-eft:PLOT 0.eft:DRAN A4
0,eft:NEXT:LOCATE 1,1

570 PRINT asp$:11=1:c2=158:FOR n=1 7O 2:
LOCATE 1,11:PEN &:PRINT STRINGS(4,154)3C
HR${c2) :STRING$ (6, 154) ;CHR$ (c2) ; STRINGS (

6,154):c2=153:11=5: NEXT: LOCATE 1,23:PRIN

T STRING$(20.158) :PRINT esp$

680 PAPER 14:LOCATE 7,2:PEN A:PRINT®:"::

PEN 2:PRINT® TEMPS®::PEN &:PRINT®!"::PEN
2:FRINT*POINTS®

690 LOCATE 1,2:PEN 10:PRINT®,TIRS."

700 PEN &:LOCATE 7,3:PRINT®;":LOCATE 14.

JiPRINT® " . _

710 LOCATE 7,4:PEN A:PRINT"!®::PEN 12:FR
INT * 100":LOCATE 14,4:PEN &:PRINT"i"::

PEN 9:PRINT® 0Q°

720 h=400:FOR i=1 TO 2:FOR 11=1 TO 5:PLO

T 0.h-11,4:DRAN 640,h-11:NEXT:h=3: NEXT
730 LOCATE 1,22:PEN 10:PRINT * de Ph. A

LEXANDRE *®

740 LOCATE 4,24:PEN 2:PRINT “MOYENNE : ®
1:PEN 8:FRINT*1300"

750 PRINT asp$:LOCATE 1,21:PEN A:PRINT §
TRINGS (20, 154) :PRINT esp$

760 PEN 9:607D 1040

770 PLOT 2,392,6:bc=4:FOR n=1 TD 2:DRAW
2.bc:DRAN 638.bc:bc=B:NEXT:DRAN 438,392:
RETURN

780 T#4EE HUR  BEEE

790 FOR bo=1 TO 20 STEF 2.1:PLOT a-540,.r
h+bo.1:DRAN a-40,rh+bo:DRAN a+40.rh+50+b
0:DRAN a+140,rh+30+bo:NEXT

BOO PLOT a-540,c.i14:DRAW a-40.c:DRAW a+b
0,c+30:DRAW a+80,c+40:PLOT a+40.c+30:DRA
W a+100,c+50:DRAN a+140,c+50

810 z=c-10:FOR t=1 T0 2:PLOT a-540.z.14:
DRAW a-40,z:DRAW a+60,z+50:DRAW a+140,z+4
30:2=2420:NEXT

820 PLOT a-40,c-10:DRAN a-40,c

830 FOR ibo=3 TO 500 STEF 40:PLOT a-540+
jbo,c-10:DRAN a-540+jbo.c:DRAN (a-520)+j
bo.c+10:NEXT

840 FOR jbod=1 70 2

8350 PLOT a.b:DRANW a,b+10:DRAN a-15,b+10:
a=a+30:b=b+15: NEXT

860 RETURN

870 ’&% JARDINIERE #3%

880 FOR jac=1 TO 150 STEP 4:PLOT jl+jac,
al 1:DRAN j1+4100+jac,al+50:NEXT

890 FOR bh=1 TO 10 STEP 2:PLOT ji,al-bh:
DRAW j1+1350,a1-bh:DRAW j1+250,a1+50-bh:N
EXT

900 PLOT ji,al,14:DRAW j1+150,al:DRAN ji
+250,a1+50: DRAW j1+100,a1+50: DRAN ji.al
910 PLOT ji,al-10:DRAW j1+150.ai-10:DRAN
i14250,a1+40

920 FOR jd=1 70 140 STEP 35:PLOT j1+420+j
d,al-10:DRAN j1+20+jd,al:DRAN j1+120+id,
al+30:NEXT

930 v=20:w=B:FOR jh=1 TO 3J:PLOT jl+v,al+
w:DRAH i1+(145+v),al+w:DRAN ji1+(145+v),a
1+{w-8) sv=v+34: w=nt17: NEXT

940 FOR n=1 TO 2:PLOT ji+tr,al-10:DRAN j
1+tr,al:tr=150:NEXT:PLOT j1+250,ai+40:DR

AW i14230,a1450

950 FOR ter=4 T0 102 STEP 4:PLOT j1+40+t
er.al+10,3:DRAN j1+100+ter,al+40:NEXT

9560 RETURN

970 *#8 fleurs 82

980 PRINT asp$

990 LOCATE f1,£2:PEN coul :PRINT CHR$($):
LOCATE 1,f2:PEN 15:PRINT CHR$(210):LOCA

TE £1,42+1:PRINT CHR$(t):LOCATE £1,42+1:

PEN coul2:PRINT CHR$1(213)

1000 PRINT esp$:RETURN

1010 *

1020 "= DESSIN TABLEAU 1 =

1030 °

1040 PAPER 14:LOCATE 15.4:PEN 9:PRINT® ¢

0 "3:PEN 6:PRINT CHR$(209):PAPER 0

1030. CLEAR: DEFINT a-z:x=50:y=100:teap=10

O:pr=8

1060 asp$=CHR$(22)+CHR$ (1) :esp$=CHRS (22)
+CHR$ (0)

1070 LOCATE 9,4:PEN 12:PAPER 14:PRINT te

ap

1080 sur=1:rh=138:c=148:a=540:b=158: 605U

B 790: i1=510:a1=110:605UB BBO:6OSUB 770:

c=96:d=165: 605UB 1680:f1=19:42=1b;coul 2=
13:coul=B:t=212:4=211:605UB 980:§1=5:42=
1B:coul=9:coul 2=7:605UB 9B0:f1=1b:$2=14:

coul=3:t=236:$=237:coul 2=3:605UB 980

1090 tableau=1:AFTER 3000 BOSUB 1190

1100 c=284:22z=0:605UB 1700:60T0 1770

1110 nc=INT(RND{(1)$4)+1:0N nc BOSUB 1120

1130,1140,1150

1120 c=94:B60SUB 1700:60T0 1770

1130 ¢=190:605UB 1700:607T0 1770

1140 c=2B4:605UB 1700:60T0 1770

1130 ¢=382:605UB 1700:6070 1770

1180 7

1170 = DESSIN TABLEAU 2 =

1180 7

1190 CLS#1:teap=1000

1200 aur=1:rh=178:c=188:2=540:b=198: 605U

B 790: j1=-132:a1=110:605UB 880

1210 £1=1:42=16:coul=8:coul 2=3:60SUB 980
1220 bl=b:PAPER 1:PEN 3:FOR i=1 TD 15:L0

CATE 16,b1:PRINT STRINGS (5.CHR$(238)):bl

=b1+1:NEXT: PAPER 0

1230 FOR p=1 TO 135 STEP 2:PLOT 524,80+p
«14:DRAN 504, B0+p:NEXT

1240 FOR i=1 TO 1456 STEP 2:PLOT 528,82+
.1:DRAN 338,88+i:NEXT

1250 FOR i=1 70 5 STEP 2:PLOT 528,234-i:

DRAW 500, 234-1:NEXT

1260 FOR i=1 T0 5 STEP 2:PLOT 404,80,0:D

RAW S34+es,B0+i:es=es+2,5:NEXT

1270 PRINT asp$:LOCATE 16,7:PEN 12:PRINT
"LASER®:PRINT esp$

1280 GOSUB 770:60SUB 1840:tableau=2:60TD
1410

1290 2

1300 = DESSIN TABLEAU 3 =

1310 °

1320 CLS#1:INK 0,0:xx=10:yy=10:x=10:temp

=900: INK 11,2.5

1330 GOSUB 770:mp=1:ren=1:couleur=2:60TD
1940

1340 °

1350 *= DESSIN TABLEAU 4 =

1360 7

1370 CLS#1:LOCATE 9,4:PAPER 14:PEN 12:PR
INT® 000 ®:LOCATE 15,4:PRINT points:INK

0,9:PRPER 0:c$=CHR$ (149) :a=18:tableau=4:

y=10:yy=7:605UB 2510

1380 ’ =====z==z==========

1390 * JEU TABLEAU 1 ot 2

1400 °

1410° PAPER 14:x=50:y=100:co=TEST(x,y)
1420 PLOT x,v,co

1430 CALL &BDI9

1440 jo=J0Y(0):LOCATE 9,4

1450 IF jo=1 THEN 1540

1460 IF jo=4 AND x>20 THEN 1540

1470 IF jo=B AND x<é10 THEN 1570

1480 IF tableau=2 AND v>102 THEN 1580
1490 teap=temp-1:PLOT x.y,11:PEN 12:PRIN
T temp

1500 IF temp=0 THEN 1510 ELSE 1520

1510 IF tableau=1 THEN temsp=100:60T0 177

0 ELSE FOR t={ TO 1000:NEXT:EDTD 1320
1520 IF jo=16 THEN 1590



1530 GOTD 1440

1540 IF y>300 THEN PLOT %.y,co:60T0 1410
1550 PLOT x.v,cosy=v+i2:co=TEST(x,v):LOC
ATE 9,4:60T0 1490

1560 PLOT x,v.cosx=x-12:co=TEST{x,v):LOC

ATE 9.4:6070 14%0

1570 PLOT x.v.co:x=x+12:co=TEST (x,vi:LOC

ATE 9.4:60T0 1490

1580 PLOT x,v.co:y=v-4:co=TEST{x,v):LOCA

TE 9,4:607T0 1490

1590 IF co=2 THEN points=points+15:60T0
1640

1600 IF to=4 THEN points=points+10:60TD
1640

1610 IF co=h THEN points=points+5:6070 1

640

1620 IF tableau=4 THEN RETURN

1630 PLOT ¥,v,.co:LOCATE 9.4:60T0 1410
1640 IF tableau=4 THEN RETURN ELSE FOR j

=15 T0 10 STEP -1:SOUND 2,0.5.j.0,0,1:NE
iT

1650 PLOT x,y.co:LOCATE 15.4:PEN 9:PRINT
points:60TO 1410

1670 *CIBLE tableau |

15680 FOR n=1 TO 4:FOR 1p=1 TO 20 STEP 4:
PLOT c-10+1p,152,14:DRAN c-10+1p, 153:NEX
T:c=c+96:NEXT: =95

1690 FOR cb=1 TO 4:PLOT c-3.155,14:DRAN
c-3. 245: c=c+96: NEXT: RETURN

1700 IF zz=c THEN 1110 ELSE zz=c:coul=4:
1c=30:u=80

1710 FOR i=1 7O 3:FOR a=1 TO 1c STEP 4:P
LOT c-a,145+u,coul :DRAN c-a,245-u

1720 PLOT c+a.165+u:DRAW c+a,245-uzu=u-2
sNEXT

1730 lc=1c-10:coul=coul-2

1740 NEXT:IF sonci=1 THEN val=0 ELSE val
=6

1750 SOUND vol.0.1,15,5,5,15:IF pr<7 THE
N RETURN ELSE 1440

1760 === ef{facesment

1770 IF v>155 THEN co=0:60T0 1780

1780 PLOT x.vy.co

1790 IF c=94 THEN CLS#3:60SUB 1830

1800 IF c=190 THEN CLS#4:60SUB 1830

{810 IF c=284 THEN CLS#3:605UB 1830

1820 IF c=3B2 THEN CLS%b6

1830 PLOT c-2,155,14:DRAN c-2,243:6070 I

1850 ’cible tableau 2

1860 x0=75:FOR r=1 T0 4

1870 ORIGIN x0,200:FOR a=1 TO 180 STEP 3
:DEG:PLOT 0,100,5:DRAN SO8COS(a) .-1085IN
{a):NEXT

1880 ORIGIN xo,220:FOR a=1 TO 180 STEP |
3:DEG:PLOT 0,50.4:DRAW 208C0S{a),-1085IN
{a) :NEXT

1890 ORIGIN %o,235:FOR a=1 TO 180 STEP 3
2:DEG:PLOT 0,10,2:DRAW 108C0S{a}.-1045IN
{a):NEXT

1900 zp=xo+110:NEXT:0RIGIN 0,0
1910 RETURN
1320 60TD 1920

1940 * JEU TABLEAU 3

1950 *

1940 PAPER 14:CALL &BD19:LOCATE x.20:PEN
1:PRINT CHR$(221):io=J0Y(0)

1970 PEN 1:IF jo=B AND x{>1B THEN LODCATE
%, 20:PRINT® ":CHR${221):x=x+1

1980 IF jo=4 AND x{>ap+2 THEN x=x-1:LOCA

TE %,20:PRINT CHR$(221):"° *®

1990 IF jo=1b6 THEN tir=1 ELSE 2020

2000 SOUND 7,0,10,15,4.0,20: IF TEST((x-1
1$32,298) =11 THEN dt=1

2010 FOR tcl=1 TO 12 STEF 2

2020 nh=INT{(RND{1)$4) :LOCATE xx,yy:FRINT
* =:0N nh GOTO 2030,2040,2030,2060

2030 xx=xx+1:60T0 2070

2040 xx=xx-1:6070 2070

2050 yy=yy+1:60T0 2070

2060 yy=yy-1

2070 IF tir=0 THEN 2090

2080 IF xx=x AND yv=20-tcl THEN 2270

2090 temp=tesp-1:LOCATE 9,4:PEN 12:PRINT

© tesp

2100 IF xx=2 THEN xx=4:6070 2140

2110 IF xx=19 THEN xx=17:60T0 2140

2120 IF yy=b6 THEN yy=8:60T0 2140

2130 IF yy=17 THEN yy=13

2140 IF temp=0 THEN FOR t=1 TO 1000:NEXT
:6070 1370

2150 LOCATE xx.yy:PEN couleur:SOUND 3.10
0+{xx%10) ,4,3:PRINT CHR$(220):1F tir=0 T
HEN 1960

2160 IF x=xx AND 20-tcl=yy THEN 2270
2170 SOUND 1,500-({tcl%3),5.3

2180 PEN 11:LOCATE x,.1B-tcl:PRINT CHR$(2
22):LOCATE x,20-tcl:PRINT® ":NEXT:tir=0
2190 SOUND 1.900,5,6:1F dt=1 THEN 2200 E
LSE 2020

2200 IF ap+2=x THEN 2240

2210 sp=ap+1:LOCATE ap.20:PEN 1:PRINT CH
R$(233)3:PEN 4:PRINT CHR$(234)

2220 PRINT asp$:LOCATE sp+1,20:PEN 2:PRI
NT CHR$(235)

2230 PRINT esp$:IF ren{>! THEN 2110

2240 SOUND 1,900,6,6:50UND 3,1000,7.7
2250 dt=0:60T0 2020

2260 xx=x:yv=20:exc=1:points=points-30:6
070 2280

2270 LOCATE xx-1,yy:PEN 6:PRINT CHR$(223
)1® ";CHR$ (224)

2280 points=points+20:LOCATE 15,4:PEN 9:
PRINT points

2290 FOR t=1 TO BO:NEXT

2300 SOUND 2,0,5.15,0.0.1

2310 LOCATE xx-1,yy:PRINT® °

2320 PRINT asp$

2330 LOCATE xx-1,yy:PEN 3:PRINT CHR$(225
) :CHR$ (226) ; CHR${227)

2340 LOCATE xx,yy:PEN 15:PRINT CHR$(231)

1PRINT esp$

2350 FOR v=6 T0 1 STEP -1:SOUND v.0,8,13
0,0, 1:NEXT:FOR t=1"TO BO:NEXT

2250 LOCATE xx-1,yy:PRINT CHR$(228):CHR$
{229) :CHR$ (230) :FOR t=1 TO 0:NEXT

2370 LOCATE xx.yy:PRINT CHR$(232)

2380 FOR t=1 TO 90:NEXT:tir=0

2390 LOCATE xx-1,yy:PRINT® °

2400 FOR t=1 TO S00:NEXT

2410 IF tableau=5 THEN RETURN

2420 xx=INT(RND{1)$12) +4: vv=INT (RND{1) §7
)48

2430 WINDOW#7,2,19,7,19:CL5#7:couleur=co

uleur+i

2440 WINDOWS2,2,19,20,20

2450 IF couleur=14 THEN FOR t=1 TO 1000:
NEXT:60T0 1370

2440 IF exc=1 THEN asp=1:exc=0:CL5#2

2470 dt=0:60T0 1960

2480 ? ===s=====z==c

2490 * JEU TABLEAU 4

2300 °

2510 FOR h=1 TO 8 STEP 2:PLOT &,74+h,9:D
RAW 632.74+h:NEXT:PEN 9:FOR a=f TO 20
2520 nh=INT{RND(1)32):LOCATE a,20:PRINT
CHR$ (240+nh) :NEXT:60OSUB 770

2530 LDCATE 2,22:PAPER 14:PEN 15:PRINT §
TRING$ {18, CHR$ (247) ) : PAPER 0

2540 LOCATE 2,yy:PEN 6:PRINT c$:LOCATE 2
Vy+1:PEN 4:PRINT c$:LOCATE 2,vv+2:PEN 2
:PRINT c$:LOCATE 2,yy+3:PEN 4:PRINT c$:L
OCATE 2,yv+4:PEN &6:PRINT c$

2550 LOCATE 1B.y:PEN 1:PRINT CHR$(40):jo
=J0Y{0): IF jo=1 AND v{>& THEN 2370

2560 IF jo=2 AND y{>19 THEN 2580 ELSE 25
90

2570 y=y-1:LOCATE 1B,y+1:PEN 1:PRINT® ":
LOCATE 18,v:PRINT CHR$ (40):60T0 2390
2580 y=y+1:LOCATE 1B,y-1:PEN 1:PRINT® ":
LOCATE 1B,v:PRINT CHR${40)

2590 IF jo=16 THEN 2640

2600 IF yy=b THEN sd=1 ELSE IF vv=13 THE |

N sd=0
2610 IF sd=1 THEN 24620 ELSE 2630
2620 yy=yy+1:LOCATE 2,yv-1:PRINT® ":LOCA
TE 2,yy:PEN 6:PRINT c$:LOCATE 2,yy+l:FEN
4:PRINT c$:LOCATE 2,yy+2:PEN 2:PRINT c$
sLOCATE 2,yy+3:PEN 4:PRINT c$:LOCATE 2.y
y+4:PEN 6:PRINT c$:IF b=1 THEN RETURN EL
SE 2530
2630 yy=yy-1:LOCATE 2,yy:PEN 6:PRINT c$:
LOCATE 2,yv+1:PEN 4:PRINT c$:LOCATE 2,vv
+2:PEN 2:PRINT c$:LOCATE 2,yy+3:PEN 4:PR
INT c$:LOCATE 2,vv+4:PEN &6:PRINT c$:LOCA
TE 2,yy+5:PRINT® ":IF b=1 THEN RETURN EL
SE 2530

2640 b=1:FOR i=17 T0 2 STEP -2:LOCATE i,

y:PEN 15:PRINT CHR${246) :SOUND INT(i30.4
}.0,i,1-2,0,0,1:605UB 2600

2650 LOCATE i,v:PRINT" ®:NEXT:b=0

2bb0 co=TEST(48,400-{y$16)):60SUB 1590:1
F coi>2 AND col>4 AND coly6 THEN 2670 EL

|
1



SE SOUND 1,900,5,5:LOCATE 15,4:PAPER 14:

PEN 9:PRINT points:PAPER 0:G60TD 2480

2670 PRINT asp$:LOCATE 1,v:PEN 15 PRINT

CHR$ (2456) :PRINT esp$

2680 s=a-1:FAPER 14:LOCATE 2+a,22:PRINT®
":PAPER 0:IF m{>0 THEN 2550

2690 LOCATE 3.22:PAPER 14:PEN 10:PRINT ®

de Ph. ALEXANDRE®:FAPER 0

2700 FOR h=1 TO B STEP 2:PLOT &.74+h,0:D

RAW 632,74+h:NEXT:60TO 2740

2710 7

2720 *conclusions

’)7'(0 b

2740 IF points)1300 THEN 2940

2730 CLS#L:INE 0.0

2760 FOR =10 TO 1 STEF -1

2770 SOUND 1,8%100,6,4

2780 SOUND 2,#850,6,6

2790 SOUND.3,a$23+30,6,6:NEXT

2800 LOCATE 1,6:PEN 2:PRINT" VOUS NE FER
E71 PAS"

2810 PRINT:PRINT® PARTIE DE L’ELITE"
2820 PRINT:PRINT" MAIS RIEN NE VOUS®
2830 PRINT:PRINT® INTERDIT UN AUTRE®

2840 PRINT:PRINT® TEST,LE NOMBRE DE®
2850 PRINT:PRINT® TENTATIVES ETANT®
2860 PRINT:PRINT® ILLINITE.®
2870 BOSUB 770 :
2880 FOR a=1 TO 10

2890 SOUND 1,8%100,6.6

2900 SOUND 2.a8350,4.4

2910 SOUND 3,8%25+50,6,6:NEXT
2920 60TO 3120

2930 ’vous etes recu !!

2940 CLS#1:INK 0,0:LOCATE 2,7:PEN 10:PRI

NT*VOUS ETES RECUS !!'!'®

2950 FOR »=1 7O 10

2940 SOUND 1,1000-(at100),5.6

2970 SOUND 2,a%100,5,6

2980 SOUND 3,1008C0S(m)+100,5, 6: NEXT
2990 ’scusson

3000 PLOT 208,250, 5:DRAN 432,250:DRAN 43
2,160:DRAN 320,105:DRAN 208, 140:DRAN 208
230

3010 LOCATE 8,11:PEN 2:PRINT®ELITE®

3020 FOR g=1 TO 20:PLOT 404+q.245,9:DRAN
40b+g, 165: DRAN 320+, 122: NEXT

3030 FOR d=1 TO 50:PLOT 224,220-d,4: DRAN

277,220-d, 4: DRAW 332,220-d, 2: DRAN 383,2
20-d. 6: NEXT

3040 LOCATE 9. 16:PEN 1:PRINT'S, N

3050 GOSUB 770
3060 FOR i=1 TO 23:READ a,b:SOUND 1,a,5,
6:SOUND 2,b,5,3:NEXT
3070 DATA 900, 1060, 0,500,700, 1000, 0,500,
500, 1000, 0,500,300, 1000,0,500,100,1000,0
,500,700, 1000, 0,500,500, 1000, 0,500,300, 1
000, 0,500,700, 1000, 0,500,500, 1000, 0,500,
200, 1000, 0,500, 300, 1000

3080 LOCATE#1,1,20:FOR i=1 TO 4:PRINTRI:
NEXT _

3090 LOCATE 1,16:PEN 2:PRINT*DESORMALS,V
0US FEREZ"

3100 PRINT®PARTIE DE L’ELITE..."®

3110 GOSUB 770

3120 LOCATE 3,20:PEN 1:PRINT*[R] POUR RE
JOUER®

3130 CLEAR

3140 t$=INKEYS$

3130 IF t$=CHR$(114) OR t$=CHR$(B2Z) THEN




